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FRESHERS NOW

SECTION -1

& DEVELOPMENT PEDAGOGY,
LEARNING PROCESS

1.

Which of the following method is

best in changing the undesirable

behaviour of the student ?

(A) Punish the child.

(B) Bringto the notice of guardians.

(C) ~To identify the causes of
;-/unde.sirable behaviour and

manage remedial step.
(D) Ignore the child.

Which of the following is correctly

arranged ?

(A) Encoding- Retrieval - Storage
Mncoding'-a Storage—Retrieval
(C) Storage—Retrieval -»Encoding
(D) Retrieval »Storage —Encoding

Alexia is which type of learning
disability ? e
(A) Reading disability
(B) Writing disability pro !
(C) Speaking disability '

}D)' Listening disability

- [P.T.O.
@



4. Frafafaa A sraer st @t &9 | 4, Which of the following methods is

w1 fafy a8 sifus dmfre aﬁtm{gﬁna considered the most scientific and
€? objective method of studying
(A) Qam fafy behaviour?

(B) wrifits fafy .ﬁ,,('A‘j Observational method

(B) Experimental method
(C) wdgm fafy
(©) Survey method

(D) =i e fafy \Lglfjlase study method

5. YA e ... A8l | 5. Creative students are-
(A) sfEr feaes (A) Convergent thinkers
(B) T Toa=w

LL};)#D’ivergent thinkers
(C) Extrovert

(©) =fede

(D) =g« gfterd (D) Veryhard working

6. TFgTE @ - | :
S8R qe-vaiy ‘femma’ | 6. According to McDougall basic

1 G- I
MiFggan g instinct 'curiosity' is related to which
(A) w3 emotion ?
(B o (A) Fear
- (B) rilate
o l,\/{Ci Wonder
@ (D) Hunger

[ J-2205 - Series-B ] [4]
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Y W e W s wrifm B-
(A) == & famn w0 falir= srmeaii
w1 A |
(B) == = foanma W wafao & )
W Ay |
(C) =afwma firm @ stemgm

(D) S #H A wit)

it AAfas & e fFd wea 2
(A) facem gme

®) Hogm

(C) fami=s W

(D) gl 1 A w0 7E )

arq a3 WA & Aol
[ayA 1 A& O ¢

(A) WAt Ueita srawn

(B) gd-dfrareTd sTaen

(C) Tt WfsmaTeeh e

(D) shoanfer dfwarrd stae

R

8.
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Scope of study of child development
is-

(A) Study of different stages of
child development.

(B) Study of effects of environment
| on child development.

Study of individual differences.

©)
(D)'fhll of the above.

Who is the father of Experimental

Psychology ?

\/a-(ﬁ.'jf ;r-\’ill1elm Wundt

9.

L] -._,.r”

[5]

(B) G.Jung "
(C) Segmund Freud
(D) None of the above.

According to Piaget the children are
able to grasp the concept of object
permanence and conservation in-
(A) Sensory motorstage * -

(B) Pre-operational stage

(C) Concrete operational stage

(D) Formal operational stage

[P.T.O.



10, wrzea ol feee, 2 A A
ay3-1 fsmoan A o e
(A) AR
(B) HIATEH
(C) wfaw-wipfas

(D) =aerE™

11. =3 =Eas & oen, ' aem s

=79 3w v wfwar %2
(A) =reEES

(B) =M =

(C) ==

(D) wats

12. #aA #vE TeA 3 Sfea gasiem | 12,

f&q s A T E?

(A) fFvmraen ‘
(B) gd-=memray

(C) vgraT

(D) 7 Hitaq 3§
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10. Watson and Skinner both

contributed in which. school of

psychology ?

((A] Functionalism”

(B) Cognitive -
(C) Socio-cultural *

DY Behaviorism
By

"Development is continuous and
slow process" according to which
psychologist ?

(A) Kolesnick

(B) Jean Piaget—

(C) Skinner

gp) Hurlock

In which stage the intense and

crucial socialization takes place?

' __(A) Adolescence

(B) Pre-childhood
(C) Adulthood

(D) In the whole life
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¢,
13. Hr+m Ti?‘:i‘i | u’q;f—d F Tt £ zi."f’ 3 Méaning of develupment of human
' |‘ -./

fawm = =14 %-

- i in
values which are umversal

(A) TaTg™ nature is-

{Indoctﬁnaﬁon
B) #rirwTm JA
" (B): Adoption X

= h VLG)/Imitatiun d//

(D) == @Mamfestatiun‘ X

s f
14, “foera s frm @ wfoe fegafEm? | 140 Who propounded the laws ©

(A) wHEE learning' ?
(A) Freud
o (B) Skinner
(©) e (€Y Thomdike
(D) TETH (D) Adler
10
15, *arn’ Frdfoma € - 15. ‘Ego'isguidedby-
A DA
(B) ArEfa®d fag< @ eali l
4 (C) 1dealistic principle
N :T 1;1::[: (D) General principle
. [7] [P.T.O.
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16, FEmywe,aar i e nEfa®
A T8 el ?
(A) wEls
(B) ERAHA
(€ WME@H
(D) ST

17. €@y %1 e fafy feg s/ &
fore sagnit &2

. (A) =TeaTEen
(B) & =g
(© Fermrrarean
(D) 394 | |

18. o&A aq1 fa=d e 3§ & frg argm
T &2
() 3fa
(B) st
(C€) T
(D) =afFa

nnnnnnnnnnn

16. Who said, "Two children have no

37,

common abilities"?
(A) Hurlock~
(B) Sorenson
(C) Crow and Crow

(D) Adler _

Project method of learning is useful
for which stage ?

(A) Childhood

(B) Pre-childhood

(C) Adolescence

\gpﬁu of the above,

18. Thurston and Likert measurement is

related to which of following ?

£A) Intelligence ¥

) _/(BS\...Attimde

[ J-2205 - Series-B ] (8]
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Edi®a o In2y B-

(A) =i ) 3l / stpedid g e

(B) == @ e § s

(C) ==a = Hrm W amdt wfamgdi @)
ST |

(D) 39U B |

a1 fawra e w9 4 frga
feen &2

(A) z?rfszam

(B) wmif= fawm

(C) Tmifas fawma

(D) Hamea fawE

frefafaa 8 3 %1 @ gfe = wi=s
Tiem 27

(A) = difaa ffzdm

(B) e =l fesme <=

(C) ATEET =aEk WaY e

(D) =AwrE faA gliem
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19. Objective of evaluation is-

(A) Todeclare Students pass / fail.
(B) Toknow, what the child has

learned.

(C) Toknow the problems faced by
the child in learning.

(D) All of the above.

NS

20. Development of concepts is mainly

a part of -

v.,‘{?ﬁntellectual development

21.

(B) Physical development
(C) Social development

(D) Emotional development

Which of the following is the verbal
test of intelligence ?
(A) Raven's progressive matrices

(B) Kohsblock design test

P
5 v(,Q) Wechsler adult performance test

[9]

([?9/ Stanford Binet test

[P.T.O.
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d i
2. fem RS Y e W v | 22, Which psyehologist Geseribed

he basis of traits ?

T MM W A e ? personality on L
(A) ez AT Cheldon
(B) wTE . (D) Freud

(C) e (C) Allport
(D) wIEEHA (D) Friedman

23, waEifos sfear & faga! wfome & | 23, Repeated association of undesired

BIEAETIER R o 1 I el B response with an aversive
consequence refers to-
() Positive reinforcement
J{A] Positi |
(B) Aversive conditioning
f) e (C) Negative reinforcement

(D) =r=fem (D) Modelling

24. =188 %A i fadram wwrel woaviEmen | 24, Which of the following characteristic

A wafrm &2 is related to effective counsellor ?
(A) wwforR (A) Authenticity

(B) @&y (B) Empathy

(C) THamrifa=am (C) Paraphrasing
(D) 39T |/l j{D)’l All of the above,

[ J-2205 - Series-B ] [10]
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27

............

aﬁ-{ W aﬁ; Y ii qﬁ'l]"[ﬁm

fem s )
(A) famm
(B) &rgawA
(C) FaH
(D) TTFER

1 | foenfag 3 foen womelt A
SEeRE o faer & ?

(A) w7 dl®

(B) @rerE®

(C) T WA

(D) 9res

qera arfam Afafas SAgEyE #
TZTET01 & S cereveeninne FEET W
anafE B

(A) snm

(B) ¥ AT

(C) THRRAF

(D) THRES
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Va

27.

nnnnnnnnnnn

i r
is defined as overlapping©

disturbance of different memory

traces on each other.

(A) Forgetting

(B) Conditioning

(©) Interference ¥

\@Yﬁmall

Which Educationist gave the idea of
behaviorismin education system?
(A) John Locke

(B) Thorndike

(C) HerbertSpencer

(D) Watson

Escape learning is an example of
instrumental conditioning based

OM.ueenineens reinforcement.

_\{A) conditioned

(B) unconditioned

] \/(le PDSiﬁVE

(D) negative

[P.T.O.
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08, HeTe Fafdreat G ST H 3TEN | 28, Cognitive therapy for the treatment

o g wEdfad fearan T ?
(A) ¥ewe Ufad

(B) famis wiae

(C) M @

(D) 39l § A &g E |

of depression was proposed by-

(A) AlbertEllis

J_ge.} Sigmund Freud

(C) AaronBeck

(D) None of the above.

29, Fmfafad § § Hi-41 MET g/ KT | 29. Which one of the following is nota

T G N TF THR e & ?
(A) Gritarcae

(B) MmrTd

(C) wfdrer Tftrdra

(D) G

type of intelligence as proposed by
Gardner?

(A) Musical

(B) Linguistic

(C) Logical Mathematical

D}y Efrea tive
o

30. S5¥70 % d= gfgafa@ aa® @1 | 30. A child having Intelligence

aifiFa wOI-
(A) fre1 wmfaes 7

(B) W HATEE HeA
(C) e HHfeE 7S
(D) fa v AFfas 5

[ 1-2205 - Series-B ] [12]

_ A

Quotient between 55-70 will be

categorised as-

(A) Mild mental retardation

\/(B)’/MDdEYEtE mental retardation

(C) Severe mental retardationw ¢

(D) Profound mental retardation  »
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FRESHERS NOW

SE
ECTION - 11 : CHEMISTRY

acial acelic

CH,COOH = waiftae ufafes
e s & i @ fefea s | a1, CH,COOH s called gl
(A) 7T = @ 9 s acid because-
: ST ¥ ' i
(B) s WA ﬁﬂTﬁT{Wﬁﬁ!ﬁ;%'l (h == d‘-‘”‘“ﬂw'":;
©) % %) E([;)} :1fw‘apomte5 in sum .
D) J tis impure.
FE T | (D) None of above.
A e T wge e 8- 32 Bullet proof jackets are made of
(A) TrERI-66 polymer-
(B) @M (A) Nylon-66
(C) Faer (B) Rayon
D) 2 (C) Kevlar
‘/,(D) Dacron
T Ue =l -
= Rl 33. Identify the correct combination-
"l !i”i"_‘“ frrzror Element Compound Mixture
@) E_’ hige T :-: (A) Graphite Brass Ice
X L“[EI -qquliIEE (B) Brass Graphite Ice
D) aﬁs R “EIEIE (© Graphite Ice Brass
: ALRES (D) Ice Brass Graphite
(@ Cl?lﬁq;f";?{ﬁ:gﬁﬂmg g facigl | 34. Which among the following is the
o : g q wrg < main constituent of cooking gas
arelt fr|) =1 4T 9eH © 7 eylinders?
{3) ?&T S \-/("(rMEthane (CH,)
(B) (C,1g) (B) Ethane (C,H
(C) ¥ (C,H,) 1 2o
(D) aa?-?(ca ) () Propane (G;Hy)
H..2)
4 1 D
(D) Butane (C,H, )
13
[13] [P.T.O.
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35 TR WA @ W w1 faee v A

BI-

(A) A

(B) &RA

(C) T

(D) ST H | F e |

36. {& WA &1 AieiE faat Bt 87

(A) 1.000 M
(B) 5.555M
(C) 5555 M

(D) 5555M

37. t{ﬁ?aﬁ'nﬁm#ﬂzﬁrﬁﬁ?ﬁh—ﬁ

EESACE 3T I9=1 BT & 7

(A) <1.2L
(B) >15L
(C) 1.2-15L

(D) 2.7L

[ J-2205 - Series-B ]
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35. The solu

FRESHERS NOW

tion of washing soda
(Nﬂzcoa) is-
(A) Acidic

(B)” Basic

"

(C) Neutral

(D) Noneof theabove.

36. What is molarity of pure water ?

(A) 1.000 M
(B) 5.555M
(C) 55.55M

(D) 5555 M

37. Whatis the amount of Hydrochloric

acid secreted per day in the stomach
of an adult human ?
(A) <1.2L

(B) >1.5L

(G 12-15L

(D) 2.7L




w Pt canafen st ® arpm
gy IR @ Qe QB upf) aegey
nm P

CHL N SO (x) 2y ‘.‘l.\.‘] PAHLO(N)
(A) dog
(M 1oy
(V) I8y

(D) g

30 & @ wies fada @ 3infy (oifauyr)
W fog-
{ﬁ):}I-
(B) i=0
(€) <1
(D) 390 it

40. = 4 @ fen Y1 w1 wig 9w
(weriifns 47g) wai sifim g 7
(A) fadm
(B) IR
(C) vedlsh
(D) e

[ J-2205 - Series-B ]
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W The amount of water produced by
combustion of 165, of methane in
following chemical reaction is.

CHi(8) 120, (g) CO,(g)+2H,0(g)
(A) 36¢
(D) 16g
(C) 18¢
(D) 32g

39. For Association the value of Van't
Hoff factor is-
(A) i>1
(B =0
(C) i<1
(D) Allof these.

40. Which of the following fuel has
highest calorific value ?
\j,(ﬂf‘Methane #
~ (B) Hydrogenv
(C) LPG ¢
_(D) Petrol
[P.T.O.



nnnnnnnnnn

1. I wmpHImwR L

[ J-2205 - Series-B]

l’\.‘! - IL‘E: “‘:*
(B) *103‘: L.

{C}-4ﬂsE
I

NN P—

e
(D) +log| H”

. FEERE § ¥1 W ey (TEE)

SIS I TN M E?

(A) T FIERRS

(B) R wIERIH
(C) T2 WIFRRE
(D) 35 | %13 781 |

. Wﬁlppmwaﬁw

wee foemd s §, fe 8 | et
FETEG?
(A) FFd
(B) fe=
(C) w%g

(D) =4

41

42,

43.

[16]

What is pH of a solution ?
(A) -log K.

(B)
Q) —log[H‘]

-

+ I;\H K.

\{D} -a.-lng[H'

Name the Allotrope of phosphorus
which has a garlic odour ?
;_{.A} Black Phosphorus
(B) Red Phosphorus
(C) White Phosphonis

(D) None of these.

Soluble fluorides upto 1 ppm are
added to drinking water to
protect -

(A) Liver '
(B) Heart

(C) Lungs
) Teeth



44.

45.

46.
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2 fa i @ W g W) oy e
& w9 3 Wy B ¥

(A) & (Fe)

(B) @l (Cu)

(C) St (Zn)

(D) €& (Pb)

fr # R, wpdifrem foree womy s
01 %, % @ ey F 2

(A) 7o 4. diat |

(B) #edIw

(©) W Hwa

(D) T

T T & SR WHfaw @S ¥ fFg
e = Tremn s &2

(A) S

(B) P

€ C

(D) B

FRESHERS NOW

44. Which metal rod is used as anode in

Daniell cell ?

(A) Tron fFe) >
(B) Copper (Cu)
(C) Zinc(Zn)*

(D) Lead (Pb)

45. Whoamong the following discovered

the element Plutonium with atomic

number 947

(A) GlennT. Seaborg

(B) Mendeleev ™

(C) Henery Moseley
(D) Heisenberg

46. Which element is mixed with

natural rubber during vulcanisation?

A& s T
® p
©c v
(D) B

[17] [P.T.O.
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47, T A W v wger T b 47. Which of these is not a natural
(A) wH polymer ?
(A) Starch
(B) wlehwrsi (B Polgstyrene
(C) Fgeir () Cellulose
(D) TR (D) Rubber
48, f=1 § § @ W e vguF ‘@ A9 | 48. Which of the following water
feidm' = =l o wRe E 2 pollutant causes the disease 'blue
(A) TS baby syndrome'?
®) ) JA) Fluoride
(B) Lead
() ez (C) Nitrate
(D) wTHE (]?] Sulphate
49, arEUEH &19g 9 f9EH 7A@ a 51 | 49. What is the name of region of
e 9] Ted €, 1 Heerl § 2 atmosphere in which human beings
(A) THAY HEd and other organisms live ?
(B) iz {AiﬁStratDspherE
) _AB) Biosphere
(5 EY (C) GreenHouse ~
(D) & e (D) Troposphere
[ J-2205 - Series-B ] [18]




50 Ext) IEGRUE! i ﬂ“j‘f"ﬂ'l AT T
[H'] 100 T =Y A e g
wma i e wfimda dim 7

(A) 1§ Sram
(B) 1 Wz Smam
(C) 2 =g Smam
(D) 292 sam

51, T W YUY ATONH & W R ?

(A) 0°C
(B) 273°C
(C) -273°C

(D) 373°C

T A 1 =R R = ns2nps

T 99 9 B #1 9l ot fa=y
ns' %1 = 1 QA A 3B
BT F1 qYE 22

(A) BA
(B) AB
(©) A,B,

(D) B,A,

nnnnnnnnn

30 What will be the rh.-m-p.n in pH of a

solution when hydrogen ion

concentration { I I'"l 15 increased by

a factor of 100 72

(A) Increases by 1
(B) Decreases by 1
(C) Increases by 2
(D) Decreases by2

51. Which of these is absolute zerp
temperature ?
(A) 0°C
(B) 273°C
~(C) -273°C
(D) 373°C
52. The valence shell electronic
configuration of A is ns*np®and that
of B is ns'. Which of the following
compound is likely to be formed
fromAand B?
(A) BA
(B) AB
~©) AB

[ J-2205 - Series-B ]
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2 m sl fadie e vl
fipgm ) (300R1 aamim w1 3
R, g @ for fe D
form waim 3 st &2

(A) HIE T

(B) W19 ST

(C) atifer® ITHAA

(D) ST

NH, T HgHI 3 Tm-
(A) NH;
(B) NH{

©) NHT
(D) NHi

fr= § @ o 9 frma o -
(A) CO+H,

(B) H,0+CO,

(C) CO+N,

(D) CO,;+H,

(A) T3
(B) =5
(C) frdm

(D) ®EEEeH

nnnnnnnnnn

53. Which process is used tosepara te a

mixture of two or more miscible

liquids having small boiling point

difference 7 ﬁ‘;' \

(A) Simple Distillation”
(B) Steam Distillation !
- _(C{Fractianal Distillation

_ (R Sublimation

54. Conjugate acid of NH, is-
A NHy
(B) NHJ

(C) NH®.

p¥a

(D) NH; -

55. Water gas is mixture of- 2
Jﬁj’tfﬂ*"ﬁz cot¥a
(B) H,0+CO,

_AC) CO+N;

(D) CO,+H,

0
Mo

A :!1" h"l—
56. The majorcomponent of compressed
natural gas is-
(A) Propane A
(B) Butane

-~
J(Cj Methane

(D] "l}"d:u gEn

[20]
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fpfeEn 1 W AN AT ® 57. The correct decreasing order of
57. ’ '
‘ v NH OH . NH basic *~'I||*ng.rllhnfI'nllnu.'m;'_ i5-
"fﬂl [ At ! 2
’ H,0, NH,, OH , NH,
(A) NHz>OH™ >NHy> H0 : ‘ -
i DN (AY NI, >0H" > NH, > H,0V
“~NH. > JY s
@ OH >NH;>MN; \ (1) Ol > NH; > Hy0 > NH,
{C] hf}i-.'ﬁ’*:{“\wli: “l.”{ [Lv] N!f-‘ - Il';,{];b f“u'.ffl. J--!'JH'
(D) H:0>NHy>OH > NH; (D) H,0>NHy>OH™ > NH;3
=2 0.20 M KCI fagms &1 snerdm 298K | 58,

The -:umluclivity of 0.20 M solution

=reT WX 0.0248 Sem™! &, SHE Hien of KCI at 298K is 0.0248 Scm™', its

oAl el

(A) 0.1245 mol ‘e’
(B) 124 S mol'ent’
(C) 124 Smol em’®
(D) 0.0124 S mol 'em?

molar conductivity is-
v _{AY 0.124.S mol 'enm?

(B) 124 S mol'cm?

(C) 124 S mol ' 'em?

‘y}f‘ﬂ.f}l}‘l S mol™'em?

5. TF S wETEEsEEe FHI) T 9N

VS}/Mass of one mole of CO, molecule
o= T & i

in gram is equal to-

(4) 14g ) d4g

(B) O44g (B) 0.44g

© g & O s

(D) 440g 4 (D) 440g
60. H,PO, 8 # Fr-7 a7 ¥ 7 60

. H,PO, is which type of acid ?
(A) Monobasic acid
(B) Dibasic acid
(C) Tribasic acid
(D) None of the above.

(A) =@ \qrig v
(B) fzamama st
(C) FFur=wma =i

(D) Zuima o | +1E 78

[ J-2205 - series-B ] [21] [P.T.O.
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FRESHERS NOW

SECTION - 111 : (BOTANY/ ZOOLOGY)

917 fyvz (Frdn wyfemm) frafafaa

§ A w1 w el gk s 2
(A) TE.TE. (LH)

(B) TErH

(C) WelA

(D) TH.TE.TH- (FSH)

S FeE 9 e e g and

WG Tl © ?
(A) HHRME
(B) TRl 3Td
(C) =St 3
(D) wf&=

Y ATF B0l Fal i A & ?
(A) el H

(B) wiaX (FFa) H

(C) = d

(D) T g

Sz e A W
(A) Yo fawms 33-fa g )
(B) o= =& €ran B4

(C) 3 fagi fra=m & &1
(D) ¥ fad fra=m € )

61. Corpus Luteum secretes which of

the following hormone ?
(A) LH -
(B) Estrogen

_(€) Progesterone

(D) FSH

62. Which part of alimentary canal

receives bile from the liver ?

Stnmach B

@*BJ/Small intestine =,

(C) Large intestine
(D) Oesophagus

63. Loop of Henle is found in-
(A) Lungs
(B) Liver
(C) Neuron

R \/(D) Nephron

64. Intesttube baby procedure-
_{A) Embryo developmentis in-vitro.
(B) There is no fertilization.
. (C) Fertilization is in-vitro.

(D) Fertilization is in-vivo.

[22]
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Q7 A W wiE T amfiveg e
Faai?

(A) UUU M GGG

(B) AAUSRUAA

(©) AUG3TGUA

(D) GUG IR AUG

A ® R I WIGLA &7 6
FEde?
(A) wiwa ieen

By e wfwen
(C) Zril (A) ¥ (B)

(D) 70 | |/ =E 7L |

T F FEA 9% % QU oA H fwe
THE AT & ?

(A) 08THE

(B) 0.8TmEH FHhe

(C) 0.08 #FzZ

(D) 0.008 #HE

[23]
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65. Initiation codons for protein
synthesis are-
(A) UUU & GGG
(1) AAU & UAA
(C) AUG & GUA

(D) GUG& AUG

66. The immunity obtained after the
body has recovered from a disease
is called-

. Jﬁ;}f'ﬁctive immunity
(B) Passive immunity
(C) Both (A) & (B)

(D) None of these.

67. The duration of human cardiac
cycle is-
(A) 0.8seconds

(B) 0.8 microseconds
AC) 0.08seconds -

(D) 0.008 seconds

[P.T.O.



68. O @a #qE & =2 & wr-fum fww
& FHE & A8 W "H ?
(A) Baiip
(B) A3 B
(@K : 6]
(D) AB3mO
69. VT F WEWI WA (Photolysis of
water) i 91 ®1 W afe =
FEYIF B 8 ?
(A) T
(B) &=
(C) e
(D) @rra

A dSfas TSwm s wd?
(A) TE=mmEs

(B) =g forfin dsife
(C) =g foferm arrde=ifan

(D) 9= gt

71. fma # | =9 w uwfifefast 95 =1
HATAHTFH & ?

M iy

68. O blood group child can not have
parents of blood group-
(A) Band B
—(B) AandB
(C) OandO
(D) ABand O

69. Which of the following minerals is
essential for photolysis of water ?
+AA) Manganese
(B) Zinc
(C) Copper
(D) Boron
70. Which of the following is a
biofertilizer ?
(A) Mycorrhiza
(B) Nitrogen fixing bacteria
(C) Nitrogen fixing Cyanobacteria
_AD) Allofabove.

71.  Which of the following is an abiotic

component of the Ecosystem ?

(A) S (A) Bacteria ~

(B) =9 (=gHH) J{Bj Humus

(C) W0 (C) Plants <

(D) ®Ea (D) Fungus -
[ J-2205 - Series-B ] [24]



e ® 1w w amer ) § 2
(A) foaeh

®) T wie (faewad)

(C) G (WA3IvE )

(D) YRS

~3
!‘.J

-3, TRY & THI F R g afiEw
F{A ol g-
(A) feardfass
(B) whriasH
(C) farrdn
(D) =HEHR

74, ¥ETE H w9 Wyewss i i ww
-
(A) UEAlEE |
(B) =hifyrm fufw o
(C) T
(D) fifa=m

75. {1 gfiz Eean faod S & T S ?
(A) o=
(B) =%
(C) =g iR viH
(D) TEfgq
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72. Mulberry leaves are food of-
(A) Butterfly **
_/(B)’ Silkworm
(C) Round worm -f

(D) HoneyBee

The bending of the shoot of plantin
response to light is called-

(A) Geotropism

——B) Phototropism

(C) Thigmotropism

(D) Chemotropism

74. In algae, the photosynthetic
pig‘ménts are present in-
(A) Pyrenoids °

, —

s |'1:
(@) Cellwal |

/(Q’_Clﬂogplast :

(D) Vacuole "V

75. Colour blindness is due to defect in-

%) cones
{B)" rods
(C) rodsand cones

(D) rhodopsin

l_-#?

[25]
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76. waivw w1 wven v an da -
(A) Wz A
(1) siam @
(C) fammg R
(D) &8 [ &g e

77. WIS @ A G B-
3223
A 33
2123
2123

1232
1232
2233
2233

(B)
(©)

(D)

78. g Arelt | ifgdig v §-
(A) == i
(B) ¥ WA
(C) 7™

(D) =T A

TeaE S A A A e A
F @ H 2

(A) @@ T

(B) wT%

© ¥

(D) T
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79.

1

o 1

76. Black rotof Crucifers is caused by a.

(A) Fungus

(B) Bacteria-
"(’C] Virus

(D) None of these.

77. Dental formula of human is-

3223
3223

2123
2123

1232
1232

2233
2233

(A)

o ABY
©

(D)

78. Aneventunique to angiosperms is-
(A) Double fertilization
(B) Sexual reproduction
L,f{(.'}fpollinatiﬂn

(D) Spore formation “#

79. Edward Jenner discovered the
vaccine for which disease ?
(A) Chicken Pox
__(BY Smallpox
(C) Dengue
(D) Malaria

[26]




g0, T A WA W ez §?
(A) Bam H1
(B) EcoR1
(C) pBR322
(D) Hind 111

81, oW S & HH 7 g9 8 B
(A) =itea fee & @ =1 @& fem
(B) =g arel G % fewm
(C) =5 =l 1Y i <[5
(D) 0 A = 7 |

82. = @ ... T &1 @l &
fom frm Taa g fwer ?
(A) BT AR
(B) U= TR
(©) +1 yferw
(D) et wfFani

83. fmafafas 4 4 faad sus <sfam =@
H #od U 9w YA T ?
(A) afa =1 wonfaal
(B) #m
(C) FEa
(D) wdta
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80. Which of the following is plasmid ?
(A) BamH1
(B) EcoR1
__(C) pBR322
(D) Hind 111

81. Ingrafting, scion is-
._(A) apartofstem of desired variety
(B) a partof rooted plant
(C) rootof rooted plant
(D) None of the above.

82. Who was awarded Noble prize for
the development of PCR technique?
. _(A) HerbertBoyer
(B) Har Gobind Khurana
(C) Kary Mullis
(D) Arthur Kornberg

'83. Which of the following flowers only
once in its life time ?
\_,{ﬁj"-.]]ambou species
(B) Mango «
(C) Jackfruit
(D) Papaya @

[P.T.O.
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i #) fyelem fram s T
i

(A) TauTy

(R) O, wem N

() v @

(D) C‘Q:Hf"r.ﬁﬂﬂ

T Taw foad W dwara sifod
(¢ ity w T T S -
(A) e gw

(B) =g g e 96
© fo=g%

D) =TT IH

IE F TR S ¥ A R § fem
T E?

(A) 3=

(B) iy

(C) vz

(D) 797y ey

Wﬂ%ﬁmﬂﬁmaﬂiﬁﬁ{qmm@;ﬁ

ﬁmmmmmmm
¥? :

(A) -120°C
(B) -196 °C
(C) -80°C
(D) -160°C

B4,

85.
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Stomatal movement is not affected

by-
(A) Temperature
(1) []ICnncvntration

_ _(C’}J Light

(D) CO,Concentration

Which book keeps record of a
endangered species ?

(A) Guinness book

(B) Species evolutionary record bogk
(C) Limcabook

ABY Red data book

86.

Where does the fertilization take
place in human females ?

(A) Ovary

(B) Uterus

\_(C)~ Fallopian Tube

87.

B

281

(D) Cervix

Pollen grains can be stored for

. several years in liquid nitrogen

having temperature of-
(A) -120°C

-196 °C

-80°C

-160 °C

(©)
(D)



g favd Sy ferE T T S R?
BI .

(A) 5T

16 famal
71 3@
22 A

(B)
(€)
(D)

89, ﬁﬁﬁ@aﬁqmgmwwﬂgﬁfaﬂ
TEE7
(A) T TR < T Tl

)

(B) xO e fem frai : feg@t
(C) ABO T T : Hed ™

(D) U=, "I : WEAdl

o ware E1.UA.T W] i e
fega &1 ?

(A) Tifas g

(B) = €. @

(C) T@. FIed a TH. dat

(D) @eA a Fiadl

90.
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88, World Ozone Day is celebrated on-
(A) 5" June g "}
(3) 16" September ",
(O 21" April
(D) 22" April

89. Which of the following pairs is
wrongly matched ?
(A)"étarch synthesis in pea:
Multiple alleles
(B) XO typesex determination:
Grasshopper
1 QC) ABO blood grouping:
- Co-dominance
(D)- “T.H.Morgan: Linkage

90. Who discovered recombinant DNA

technology ?

(A) Har Gobind Khurana ~ d
N (B) James D. Watson
(C) S.Cohen & H. Boyer /

(D) Sutton and Boveri

[P.T.O.
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frafafiga 11 3 aa m OF LY
(uan ) wiwm W g &7

91.

(A) Fvaa o

(B) 7= St A
(C) sit= &m

(D) wfas IumA

2. Wﬁﬁmmﬁ,ﬁm(%ﬂfm)'
H frg RS W ¢?
(A) wra spfa fawre #
(B) |t g fawrer A
(C) wed g favrem |
(D) Eri (A) 3R (C)

03. g T, Tiaw Had W@ FHA
f oo, fagom &

(A) SRerE (FEheR)
(B) HHFEZH (WHIRGE) B
(C) TfawrEeR (SfYTRY) @i

(D) TEETHRIH (SEifeg) H

Sfte & T ST Y ST
fEga &2

(A) =ifdT 7

(B) @HE |

(C) @nifa a wreea A
(D) &l A

94.

nnnnnnnnnn

Which one of the following, is 3,

1.
¥ situ consery ation?

example of e
AN National Park
(1) Wildlife sanctuary

_{C) Seed Bank

(D) Sacred Groves

92. First polar body is formed at which
state of oogenesis ?

z J(K) 1** Meiosis * :‘_}* :
_AB) 2" Mitosis i

Q) 1 Mitosis

(D) Both (A)and (C)

—

R
L

93. Reduction in wvascular tissue,
mechani;:al tissue and cuticle is
charac-‘feristic of-

x-\.,,(ﬁ)fXEmphytes
(B) Mesophytes

(C) Epiphytes
(D) Hydrophytes

94. Who proposed the chemice
evolution of life ?
*{A) Darwin
(B) Lamarck
\/('C) Oparinand Haldane
(D) Haeckel

[ J-2205 - Series-B ]
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g, g A
(A) 0 | TRRI T 0
0 o RIS e
Q T YA R
(D) T TR

o, ) R G ffr ) W
) 7) i 0 ¢-
(A) foarfid ‘A
) Fie K
(€) et C
(D) frmf

o7, i S e e

95, Main functionof Insulin hormoneds

lo-

(A) Increase glycogenin iver.
(B) Decreaseglycopeninfiver,
(C) Increaseblood supar.

(D) Decrease blood sugar,

9. A fat soluble vitamin that regulates
blood clotting is-
(A) Vitamin'A'
) Viaming
\/(Qj/Vitamin C

(D) Niacin

97. Other than spreading malaria,

TR anopheles mosquitoes are also
(A) gqlm vectors of- 1y
) W _NA) Denguefever
o ) JJB)’ Filariasis
T (TR
() | ) | (C) Encephalitis
(D) w5 (D) Yellow fever
N p— AT E! | 98, Coltheory isnotapplicable for
(A) T (A) Bacteria~
(B) (B) Fungus-
(C) Yem AQ) Algae
(D) femmy (D) Virus
[ J-2205 - Series-B | [31] [PT.0.
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99, v Ty frwizs nm b
(A) gfrern W
(B) arvtan 1
(C) T
(D) Yofifaay

100. Y1 3 16-FHTH TR W cvvvvvrrens B

W I S
(A) T e

(B) e
(C) =mgen
(D) =r=ritqd

101. &l 5t T Ty & §-
(A) 73 veregar
(B) et
(C) wgwmm
(D) I9m |y

102. 5713 et W Fformsli &1 steree
fe 1 =1 S 82
(A) 45
(B) 120
(C) 80
(D) 180

[ J-2205 - Series-B ]

nnnnnnnnnn

99, Transverse binary fissionoccursin.
(A) Buglena
(1) Amocba 4
(C) Hydra

(D) Paramecium

100. The embryo at 16 celled stage is
known as-
.f""---r-_
(A) Morula
(B) Gastrula
(C) Blastula

(D) Blastomeres

101. Common problem of the eyeis/are-
(A) Conjunctivitis
. _/(B}“"ffa taract
(C) Glaucoma
(D) Allof the above,

102. Life span of human RBC i about...,
days.
(A) 45
_(B) 120
(C) 80
(D) 180

[32]



103, Frefafaa § S sves § 7
(A) wifed

(B) RS
(C) wed
(D) =4

104. T4 e f < %9 3wt eafafma
wiwa &= 2
(A) STt
(B) fe=tmit
(C) ar&==my
(D) aftgrrto

105. T3%EE &1 e %3 & fog =89
TAEHE S #7 9mE $2
(A) 3TE.AE.78.T, (fermn) wdvem
(B) 3.UR.3. gitem -
(C) W43, gitemy
(D) fazm@ wiam

106. Bt &4r9 o1 787 %2
(A) @At wafifa g
(B) #1e gfedndt |
(C) it i afirenfa yored
(D) A4l Ftemrei #1 gfads |
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103. Which of the fnllnwinﬁ is OViparoyg?
(A) Platypus

(B) Bat -

(C) Elephant -

(D) Whale .,

104. The correct sy rgical procedyre as a
contraceptive method is-
(A) Ova riectomy
(B) Hysterectnm}'

V.,(C’)/ Vasectomy
(D) Castration

105. The chemical test used for the
diagnosis of typhoid is-
(A) ELISA-Test
(B) ESR-Test
(C) PCR-Test

_AD) Widal Test

106. Bt cotton is not-
(A) A genetically modified plant.
(B) Insect resistant.
C)” Ab: ial pene expressing
__AC)” A bacterial gene exp
system.

(D) Resistant to all pesticides.
[P.T.O.



107. Tt iy ¢ RNA gl sy v & 2
(A) 5'- faql yq
(B) 3'-fmtwm
(C) T=aren v w
(D) DHU T w

108. Frfefea d A frg of Q@ =31 305
Hafug §2
(A) Uuafage
(B) warsi
(C) fra

(D) =&

109. 9 (74) =t srervrerir ot e fre e
(A) Forferd
(B) =i Aferem
(C) 3w
(D) Fefemr g

110. 7 P ieft 4 95 (%m) w4
Tl &-
(A) TEIA 3t gy
(B) HAftar
(C) slFdr=ifaa
(D) 39 | |
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107. The amino acid attaches to the

I RNA at its-
(A) 5'-end
(B) 3'-end
(C) Anticodonsite
(D) DHUloop
108. To which one of the following
categories does adipose tissue
belong ?
(A) Epithelial
(B) Connective

—AC) Muscular
(D) Neural

109. Main hearing part of an ear is-
(A) Cochlea
(B) Ear canal
(C) Utricle
AD) Eustachian tube

110. Oral contraceptive pills contain

small amount of-

(A) Estrogenand Progesterone

__AB] Norplant

(C) Oxytocin
(D) All of the above,

[34]



11, wrédaAfE feh sifa it §-
RS

113. 7= T | fem =1 dREs Fa
W % ?
(A) 2n+1
(B) 2n+2
(C) n+1
(D) 2n-1

114. TF Te[& IS A 1 WIS 34 & feu

(A) 6
(B) 12
(C) 18
(D) 24
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11 Cyanobacteria are e]gs,
A&y Alpac
() Plantae "
(C) Monera -~
(D) Protista

ified under.

112. Starch is a polymer of-
(A) Glucose

(B) Fructose

\/(C)/ Sucrose

(D) Maltose

113. Which of the following condition is

called monosomic ?
AAK) 2n+1 ( 2wt
(B) 2n+2
(©) n+1 Lr
(D) 2n-1 ,

114. Synthesis of one glucose molecule

TeqUires......covevens reduced NADP
molecules.

(A) 6
AB) 12
(C) 18
(D) 24

\2-

[P.T.0.
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53 g wmm fip na gy 2
(A) 3irm

(B) Zom

(C) 3ri= 25

(D) w1 31 wrd 54

Pe. 555 3 3
ERAR T CE T D
(A) H1am3A
(B) =reHm
(C)
(D) 7

137,50 it < C, ¥ C, Wi % 911 | 117. The process which makes major

T HM T 2] -
(A) wEfemE
(B) ¥a3
(C) T
(D) 3fe\ ==

AE UL W arniEe | 116,

118, SFETHTR wlemftasm 57 sifm | 118

(A) THeTeFoT=o
(B) Hwiray
(C) ToZlette

(D) TeFlonlo .7
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(A) Odum
(B) L Munch
(C) Ernst Haechel

(D) None of these.

Which one of the following act as bio
indicator of air pollution ?

(A) Algac

(B) Lichens

(C) Fem

(D) Mustard

difference bebween C,and C, plants
is-

(A) Photorespiration

(B) Respiration

(C) Glycolysis

(D) CalvinCycle

The end product of oxidative
phosphorylation is-

(A) NADH.

(B) Oxygen

(€) ADP.

(12) .-\.'['.P:*Ilz()
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% A T % e 190 A cell plate is Jaid duriny-
(A) SEIEEI Ry (A) Cytokinesis
(%) —mﬁ:{q (B) Karyvokinesis
(€) sf'*q.;"lti"i?ﬂm?'-m) (€) Interphase
D) 39 A #1555
(D) 3373_‘-?31; (D) Noneof these,
20. MA H SUERTEE i et
120 ) R HIE T @7 9F 9 | 120. InIndia, tropical rain forests occurs
& in-
(A) ¥ FEN Y (A) Jammu Kashmir
(B) zmmH (B) Andamans
(C) SWuw i (C) Uttar Pradesh
(D) fewraa wew g (D) Himachal Pradesh
[37] [R.T.O.
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e SECTION -1V ¢
GENERAL AWARENESS & ENVIRONMENTAL STUDIES

121, "y ¥ ) (NATO) & werafr o
&
(A) Gt Qo ficidyq
(B) Su R
(C) drifefin Jdem
(D) ¥ @+ 7 |

122790+ @ 3ot st ol
feed ferit 2
(A) T fife
(B) e fifg
(C) Femm wwEt
(D) W T

123. SYF1% W w1 5F FRY T
€?
(A) werem T
(B) T M HiEA 1
(C) fadsrig
(D) TR Tt T
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121. Who is at present the Secretary
General of NATO?
(A) AntonyJ. Blinken
(B) JensStoltenberg
(C) Volodymyr Zelenskyy
(D) None of these.

122. Who wrote the Book "Kashmir : A

Tragedy of Errors" ?
(A) TavleenSingh

(B) KhushwantSingh
(C) Salman Rushdie

yShashi Tharoor

123. Who is called the father of modern
India ?
(A) Mahatma Gandhi
._{B)” Raja Ram Mohan Rai
<) Vivekananda

(D) Jawahar Lal Nehru

[38]
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126. feom=d W91 &1 A | Al WG

T=509 FEIad F HEA Aayie a1 7
(A) faza =g 3=

(B) Hrmig 3Hi

(C) <8 1w HereHA

(D) A& =2 HerH
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124. In which district the "Suhi” fair is
celebrated ?
(A) Shimla
(B) Mandi
(C) Chamba\~ -

(D) Hamirpur

125. "Baner Khand" is a tributary of
which river ?
(A) Yamuna
(B) Ravi
(C) Beas

(D) Chenab

126. Which person from Himachal
Pradesh became the Chief Justice of
Supreme Court of India ?

. J/(A}’fvishva Nath Sharma -~
(B) Somnath Sharma
(C) Des Raj Mahajan
(D) Mehr Chand Mahajan

[P.T.O.
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TN TR/ W S a2
(A) o= Fop
(B) 'ﬂ'ﬂ?:ﬂﬁm*u;

(C) =t == weft

(D) fairg femraeht

128. BTt eafdm e S o g
FHE?

(A) fa= ey

(B) T gaterni
(C) =red =t
(D) &t =1

W

129. T fag 7t & femt fegm &2
(A) g
(B) T
(C) et

(o Tl
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127. Who is the Author of the Bog
".AJO"?
_(A) Shanta Kumar
_(B) Jaidev Kiran
(C) Lal Chand Prarthi

(D) Vinod Himachali

128. Who is the founder of social
Networking site 'Facebook'?
(A) Bill Gates
(By Mark Zuckerberg
(C) Carl Cori

(D) Larry Page

129, Kolkata is situated on the bank of
which river ?
(A) Narmada <~
(B) Gangavs

(C) Gomti -

(D) Hooghly

[40]
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130.

131, ToR Famea 1 s R @ o ?
(A) T 3 ==
(B) TN ER 9=
(C) T &Y =g

(D) TSN 79 =]

132. o=@ wov & Wi fard e
g7
_(A) =E
(B) =
(C) &

(D) =™

133, " W= #1 v’ 1 19 4 el S
%?
(A) YR
(B) =t
(C) Tymanfas
(D) 9 gsie
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130. Whosigned the "Shimla Agreement”
from the side of Pakistan ?
(A) Benazir Bhutto
() Zulfikar Ali Bhutto _
(C) Yahya Khan
(D) AyubKhan

131. Who founded the Guler Princely
Slate ?
(A) Raja Bhumi Chand .
._~(B) Raja Hari Chand
(C) RajaRup Chand '/
(D) Raja Megh Chand

132. Who were the earliest inhabitants of
Himachal Pradesh ?
{A) Kol
(B) Arya
(C) Gaddi
(D) Khasa

133. What is the 'Ancient Mainak
Mountains' called now ?
(A) Dhauladhar
(B) Zaskar

\j..-»-(C) Shivalik

[(41]

(D) Pir Panjal
[P.T.O.




134, TTER I W forg Y W wwraEn | 134,

WM e?
(A) Wi
(B) e
(C) famem
(D) w&l

135, ' froreras o' i@ @ a@® B | 135,

%7

(A) FtoTHo Tt
(B) THoTHo Turl

(C) T=gosilo TR
(D) SoHle %
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(A) AGT T
(B) W W -
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mMushroom
Whichcity is known for

production?
(A) Solan

(B) Nahan
(C) Shimla

(D) Mandi

Who is the author of the book
‘Himalayan Art'?

(A) V.N.Goswami

(B) M.S.Randhawa

R

(C) W.G. Archer

(D) J.C.French

. Who organizea the movement

against the Raja of Mandi in 1909 ?

(A) Mathra Das

(B} ShobhaRam

(C) Miyan Jawahar Singh

(D) None of these.
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137. What was the title given to Kullu
Nati of 26 October 2015 in which
10,000 people participated ?

(A) Honor of Kullu
(B) Wonder of Kullu
_AQ) Pride of Kullu

(D) Charm of Kullu

138. Who is at present the Chief Justice
of Himachal Pradesh High court ?
(A) Mohammad Rafiq
/(«B)/ Lingappa Narayana Swamy
(C) Amjad Ahtesham Sayed
(D) None of these.

139. To whom did the Mughal emperor
Akbar grant 'Kangra' as Jagir in
15727
(A) Todarmal
(B) Birbal

_(C) BhagwanDas
(D) .ManSingh

[P.T.O.
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140, In which 1
Women from Jdomest

P.‘I‘E‘il!_‘{' ?
(A) in 2002
(B) in 2003
(C) in 2007
(D) in 2005
141. According to the Constitution, India
is a-
(A) Federation
._{By Union of state
(C) Half union
(D) Unitary government

142. Whom did the people of Indus
Valley worship ?
A) Pashupati
(B) Goddess Shakt
(C) Fire
(D) Surya

143. McMohan line demarcates the
boundaries of which countries ?
(A) India-Sri Lanka
(B) India- Pakistan
(C) India-Maldives

_AD) India - China
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144, When is Himachal day colabrynnd
(A) 15 April
(B) 26 January
(C) 1 November
(1) 25 January

145. Who as the founder of Fyotwer
Settlement” in india ?
(A) Thomas Munro
(B) Holt Mackenzie
(C) James Thomsen

(D) JohnShore

146. Where is Greenwich locatz< 7
(A) France
(B) China
(C) Poland
D) England

147. Who was the first Chief Mmxseerof
Himachal Pradesh ?
(A) P.K Dhumal
L/(Bj Y.S. Parmar
(©) Shanta Kumar
(D) RamlLal

[45]
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(A) Lion
(D) Elephant

(C) Tiger s 0

(D) Kangaroo
In which year was the Indian
National flag adopted ?

(A) 26 January 1948

“(B) 22]July 1947

(C) 26 January 1950 Q_f\_
(D) 18 December 1949

Which country gives the Magsaysay

Award?

(A) Philippines
(B) Britain o @

(C) New Zealand
(D) USA.



